
STAY BAR SINGLE (TRIPLE-R/ST) | 1121K-B-SGL
3

1

7

2

9

8

6

5

410

ITEM 
NO.

 DESCRIPTION QTY.

1 STAY BAR MOUNT 1

2 STAY BAR SUPPORT 1

3 LAMP STAY BAR 1

4 M4 WASHER 4

5 M6 WASHER 1

6 M4 NYLOC NUT 2

7 M5 GRUB SCREW 2

8 M4 SOCKET BUTTON SCREW 2

9 M6 SOCKET BUTTON SCREW
(MAX TORQUE 4NM)

1

10 ALLEN KEY 1


